Atividade Logaritmos

@ calcule:
A) logs /5

B) 1Og27 %

C) log;000 0,001
D) lognz%

@ Dados log2 = 0,30 e
log 3 = 0,48, determine:

A)log 108
B) log 12

C) log,0, 18
D) logs, 32

(3) Determine x em cada
item:

A) log, (x +20) =2

B) log; x + logg x =3
C)log, x +1log, 2 = —2
D) log, V3 +logox =1

(@ sendo log,y =2,
determine o valor de:

A) log, (xy)

B) log, x*

C) log, 5 /Xy

D) log,, 5 x\/y

(5) Determine o valor de:
A) logg o4 125

B) log 125 32

C) log,oo 0,05
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(D calcule:

A) logs V5

B) log,, 19

C) log;00 0,001

D) log,,2 %

(2 Dados log2 =10,30 e
log 3 = 0,48, determine:

A)log 108
B) log 12

C) log;o 18
D) logs, 32

(3) Determine x em cada
item:

A) log, (x +20) =2

B) log; x + logox = 3
C)log, x +log, 2 = —2
D) log, V3 +loggx =1

@ sendo log,y =2,
determine o valor de:

A) log,(xy)
B) log,> x3
C) logy 5 /Xy

D) log, .~ x\Jy

(5) Determine o valor de:
A)logg o4 125

B) log 125 32

C) log,o0 0,05
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@ calcule:

A) logs V5

B) log,, /9

C) log; 00 0,001

D) log,2 %

(2) Dados log2 = 0,30 e
log 3 = 0,48, determine:

A)log 108
B) log 12

C) log,0 18
D) logs, 32

(3) Determine x em cada
item:

A) log, (x +20) =2

B) log; x + logo x = 3
C)log, x +log, 2 = —2
D) log, V3 +logox =1

(@ sendo log,y =2,
determine o valor de:

A) log,(xy)
B) log, x*
C) logy 5 /Xy

D) log, x x\Jy

(5) Determine o valor de:
A) logg o4 125

B) logg 125 32

C) log,o0 0,05
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@ calcule:

A) logs V5

B) log,, V9

C) log; 00 0,001

D) log,2 %

(2) Dados log2 = 0,30 e
log 3 = 0,48, determine:

A)log 108
B) log 12

C) log,0 18
D) logs, 32

(3) Determine x em cada
item:

A) log, (x +20) =2

B) log; x + logo x = 3
C)log, x +1log, 2 = —2
D) log, V3 +logox =1

(@ sendo log,y =2,
determine o valor de:

A) log,(xy)
B) log,> x3
C) logy. 5 /Xy

D) log, x\Jy

(5) Determine o valor de:
A) logg o4 125

B) logg 125 32

C) log,o0 0,05



